
HAMMOND
MANUFACTURINGTM

ENCLOSURES

TOOL BOX

ISOMETRIC VIEWFRONT VIEW

BUL10147

1485/1487 - SERIES REV. D

Step One: Join the Wireway Fittings and Fasten the Drop Hanger or
Bracket (Ref. "Detail "A" & "B")

Assembly Instructions for Drop Hanger and
Bracket Hanger (shown) to wireway Fittings

A

DETAIL A
TYP (3)

B

DETAIL B
TYP (4)

NOTE:  HARDWARE INCLUDED WITH FITTINGS

3/8, 7/16" Socket
Wrench or Driver

3/8, 7/16" Open
End Wrench

NUT 1/4-20 KEP ZP

WASHER 1/4-20 EXT STAR SS
TYP (2)

SCREW 1/4-20 X 1 HEX HD SL ZP

GSK.BILTRITE1/8 
SOLID NEOPRENE

WIREWAY FITTINGS
TYP

SCRW 1/4-20X1.5 INDHX SL YZC

WASHER 1/4-20 EXT STAR SS
TYP (2)NUT 1/4-20 KEP ZP

TYP (3)

DROP HANGER

DROP HANGER

Step Two: Finally, attach the Snap on Sealing plate and
close leds as shown (Ref. Detail "X").

DETAIL X

SNAP ON 
SEALING PLATE

LID

1485 FITTINGS FOR SIZES B & C (B -2.5 x 2.5) AND (C - 4 x 4)

PART # QTY. DESCRIPTION

1 1 DROP HNGER OR BRACKET HANGER

2 2 SCREW 1/4-20 X 1 HEX HD SL ZP

3 8 NUT 1/4-20 KEP ZP

4 8 WASHER 1/4-20 EXT STAR SS

5 2 SCRW 1/4-20X1.5 INDHX SL YZC

1485 FITTINGS FOR SIZES D & E (D - 6 x 6 ) AND (E - 8 x 8)

PART # QTY. DESCRIPTION

1 1 DROP HNGER OR BRACKET HANGER

2 3 SCREW 1/4-20 X 1 HEX HD SL ZP

3 15 NUT 1/4-20 KEP ZP

4 14 WASHER 1/4-20 EXT STAR SS

5 4 SCRW 1/4-20X1.5 INDHX SL YZC

(** PLEASE NOTE FOR 1487 - SERIES
FOLLOW THE SAME INSTRUCTIONS**)

BRACKET HANGER

PAGE 1 OF 1


